Fifth Grade Weekly Homework Sheet 14                                   
Name______________________________     Date:   ________________________Score ___________________
	CCSS
	MONDAY 
	WEDNESDAY 

	Number and Operations Base Ten:

5.NBT
	Write in standard form: Forty-nine billion, two hundred eleven thousand, and fifty-two thousandths


	< or >?

a.  0.52 ____ 0.521

b.  2.6 ____ 2.658

c.  0.38____0.4



	Number and Operations Base Ten:

5.NBT
	Sammy has 3 batteries, each with a mass of 9.8 grams. He has wires with a total mass of 2.2 grams, and a bulb with a mass of 3 grams. What is the total mass of the entire circuit?


	Matty is two times older than her sister Mandy. If the sum of their ages is 24, how old is each girl?

	Operations and Algebraic Thinking

5.OA
	Write an expression that means find the difference of 29.5 minus 12.2, and then divide by 5.

	Write an expression than means 20 less than the sum of 40.2 and 12.6.

	Number and Operations Fractions:

5.NF
	List the first five multiples:

7: 

3: 

Circle the largest number common to both lists. This is the LCM.
	List the factors of:

20:

30:
Circle the largest number common to both lists. This is the GCF.

	Number and Operations Base Ten:

5.NBT
	Cynthia spent $3.60 on 8 apples. How much did each apples cost?


	Rodrigo spent $23.52 on toy cars. If the cars cost $0.98 each, how many did he buy?



	Operations and Algebraic Thinking

5.OA
	Evaluate:

7 x 8 - 20 ÷ 10  - 3
	Ginger wrote an order of operations problem below but forgot to put the parenthesis. If she wants the answer to be 20, where should she put the parenthesis?

400 ÷ 4 x 5

	Measurement and Data:

5.MD


	There are 5,280 feet in one mile. 

How many inches are there in 1 mile?            

   ________________ 
	Jonah measured the length of his thumb in centimeters. The length of his thumb was between 4.5 and 4.6 centimeters. Which of the following could have been the length of his thumb? 

       a. 4.06 cm 

       b. 4.51 cm 

       c. 4.48 cm 

       d. 4.61 cm 




	THURSDAY 
	Bonus 

	Solve:

683  x  10  =

683  x  100 =

683  x 1,000 =

683  x 10,000 =

Maria needs 3 cups of flour to bake a cake. If 
she has 2.25 cups of flour, how much more does she need?



If you multiply 5,682 by 10³ how many zeros 

will you add?  ____________
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Thomas started at {5,3). He walked north for 5 units,
east for 2 units, and then south for 4 units. What are
the coordinates of the point Thomas is at now?





	Mikey worked 3 hours on Friday for $7.50 an hour and 5 hours on Saturday for $9 an hour. 
Write an expression to show how many money he earned.


	2.** 
Farmer Brown had a garden plot that was two yards by three yards. He tripled its length and width the next year. 

What was the area of the new garden? 

Did the area triple? 



	 Round the following number

18,256.349
To the nearest hundredth  _____________

To the nearest thousand ​​​​​​​_____________
	4. ** If you could fold a paper in half six

times, how many sections would there be?

Answer: _______ sections.

How about folding it 8 times?

Answer: _______ sections.

	Liza is learning about hummingbirds. She learned that a bee hummingbird can weigh 0.07 ounces and a giant hummingbird can weigh 7 ounces. What is the difference between these two weights? Show your work. 

   a) 6.93 oz. 

   b) 7.07 oz. 

   c) 6.97 oz. 

   d) 0.63 oz. 
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